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CHAPTER 3
Complition Of The Accounting Cycle
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Only in rare cases is a business organized wit ation of operating for only a

certain period of time. @
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The golgg C rn concept a business entity has a reasonable expectation
of conti business at a profit for an indefinite period of time.
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The annual accounting period adopted by an enterprise is known as the fiscal year.
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The period most commonly adopted is the calendar year, although other periods
corresponding to the enterprise’s natural business year may be used, particularly for
incorporated enterprises.
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(2) the accrual basis of accounting.
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When the ba sed, revenues are reported in the period in which cash is
received, e ported in the period in which cash is paid.
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Most enterprises, however, use the accrual basis of accounting.
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Under the accrual method, revenues are reported in the period in which they are earned,
and expenses are reported in the period in which they are incurred in the process of
generating revenues.
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at the end of the
) period.
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The accrual basis of accounting requires the use of an adjusting pr
accounting period to match properly the revenues and expenses Wi

f the amounts listed on the trial balance are
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At the end of the accounting perio
not necessarily correct.
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sted for prepaid expenses are normally overstated because the
or expiration of these assets has not been recoded.
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Likewise, some revenue or expense items related to the period may not be recorded, since
these items are customarily recorded only when cash has been received or paid.
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The entries required at the end of the accounting period to bring the accounts up to date
and to insure the proper matching of revenues and expenses under the accrual method
are called adjusting entries.
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The posting of the adjusting entries will bring the ledger up to datgasaplanned part of
the accounting cycle.
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Work sheet And
Before adjustments are journalized a%y d, it is necessary to determine and assemble
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The work sheet is also an aid in preparing the income statement, retained earnings
statement, and balance sheet.
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Journalizing And Posting Adjusting Entries
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At the end of the accounting period, the adjusting entries are recorde
posted to the ledger.
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nd dividends accounts are temporary accounts used in classifying
es in owner’s equity during an accounting period.

The reven Xp
and summ%
% 30 4S widwd 8g0 glplus clow Sguw g Ay 3 ool jo lealue

S8 eolauwl 050 (g lulus 0590 SO o b Jb Gois o alols Of s

At the end of the period, the net effect of the balances in these accounts must be recorded
in a retained earnings account.
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The balances must also be removed from the temporary accounts so that they will be
reacly for use to accumulate data for the following accounting period.
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The balance 3
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this/account erjelosed to the retained earnings account.
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count is closed to the retained earnings account.
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Finally,

After the closing entries have been journalized and posted to the ledger, the balance in
the retained earnings account will correspond to the amounts reported on the retained
earnings statement and balance sheet.
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The last procedure of the accounting cycle is the preparation of B'trial balance after all
of the temporary accounts have been closed.
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The sequence of accounting procedures during a fiscal period is called the accounting
cycle.
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It begins with the analysis of transactions and ends with the post-closing trial balance.
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The most significant output of is the financial statements.
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MATERIAL FOR TRANSLAQON

The accounting period assumption states that users.ef fia\r%&jal information require
periodic reports. AN

.....................................................................................................
......................................................................................................

......................................................................................................

Under accrual*basis accounting, we recognize revenues and expenses when benefits are
exchanged.

......................................................................................................

\

The matchiagprinciple matches revenues earned during a period against the expenses
incurredsto generate the revenues.

.............................................................................................

Adjusting entries update the ledger accounts to include revenues that have been earned
and expenses that have been incurred.

.............................................................................................
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At the end of the accounting period, portions of certain assets have either expired or been
physically used up.

A prepaid expense adjustment transfers the amount consumed from an asset account to
an expense account.

Depreciation expense is the portion of the cost of a property, plant; an%equipment asset
assigned to the accounting period. A\

...............................................................................................................

.
ooooooooooooococoooco.co.c0-0-0-0-0--0-0-0-0--0-00-00000-00000000..000000-0-.-.\ ------------

To compute the expense using the straight-line method,divide the cost minus residual

value by the useful life. \\.

.......................................................................................................

Debit this amount to the appropriate expense’account, and credit the contra asset
Accumulated Depreciation.

Unearned revenues are usually recoré%d inliability accounts when received.

.......................................................................................................

Unearned revenye adjustmentsiallocate the previously recorded revenue to current and
future accounting periods.

.......................................................................................................

Accrued revenue adjustments recognize revenues that have accumulated or accrued
during the:accounting period.

.......................................................................................................

Accrued expense adjustments recognize expenses that have accumulated or accrued
during the accounting period.

To adjust for accrued expenses, record increases in expense and liability accounts.
VY
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The materiality concept allows accountants to ignore adjustments for insignificant trivial
items.

If failure to disclose an item would be misleading to a user of information, that item is
material.

......................................................................................................

.......................................................................................................
......................................................................................................

Determine the ‘amount that will balance the Income Statement and Balance Sheet
columns.

After completing the work sheet, we prepare the income statement from the amounts in
the Income Statement columns of the work sheet.

.......................................................................................................
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We then prepare the statement of owner’s equity and balance sheet from the Balance
Sheet column.

Although we enter the adjustments on the work sheet, we must still journalize and post
the adjusting entries.

We take the adjusting entries directly from the Adjustments columns:of.the work sheet.
...................................................................................... 4 \‘

Closing entries serve two primary purposes.

.......................................................................................................

1)They close the temporary or nominal accounts to zerok@ahces so that they are ready to
accumulate information in the new accounting:period.

.......................................................................................................

.......................................................................................................

2)They transfer the net income or net Iosifor the current accounting period to the
owner’s capital account. \\

.......................................................................................................

.......................................................................................................

We can make the cls&ing entries directly from the work sheet in the following four-step
sequence.

.......................................................................................................

1)Debit each-account in the Income Statement Credit column; and credit their sum (the
subtotakin the Credit column) to the Income Summary account.

.............................................................................................

2)Credit each account in the Income Statement Debit column, and debit their sum(the
subtotal in the Debit column) to the Income Summary account.
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3)Transfer the balance of Income Summary to the owner’s capital account.

The post-closing trial balance tests the debit and credit equality&the general ledger
before the accounts receive postings of the next accounting{eriod.

2
..................................................................... N...-...-.-..-.-.-.-.--.--.-.-.-.-.-..-.

.............................................................................................

Reversing entries are made at the beginning-of.the'new accounting period and are the
reverse of certain adjusting entries madg at the'end of the previous period.

.......................................................................................................

.\‘
They simplify the recording of transa%ns by eliminating the need to consider any asset
or liability accounts established by the adjusting entries.

The adjustments thatmay be reversed are: ............oevevveiieieiiaiiaiieeiesnssnrensescnse

Accrued expense adﬁxtments, accrued revenue adjustments, prepaid expense adjustments
originally recorded asexpense, and unearned revenue adjustments originally recorded as
revenues.

Two closing entries for a corporation differ from those of a proprietorship; the closing of
net income and dividends.

.......................................................................................................
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TRUE-FALSE QUESTIONS

Write the Letter T or F in the Parentheses

1)Accountants use the term fairly to mean that the financial statements reflect the
underlying economic events and transactions whithin an acceptable_range of accuracy.

()

2)Accruals include goods and services collected or paid for in‘advance of benefits given
or received.( ) \

3)After all the external transactions have been recorded)an adjusted trial balance is

prepared.( ) \ ’
4)The operating cycle is the length.of time'it takesto pay the current liabilities.( )

5)Under the cash basis of accounting;iitseasy to manipulate profits.( )

A

\,
6)Work sheets are not part of the perr%anent accounting records of a business entity.

()

7)Interim statements are prepared informally from the work sheet on a monthly or
quarterly basis.(/* )

8)Unearned Rental Revenue is an example of a temporary or nominal account.( )

9)The post-closing trialbalance is prepared directly from the adjusted trial balance.

()

10)The'adjusting and closing entries are typically journalized after the work sheet is
completed. ()

11)Current assets include those assets expected to be used or consumed through
operations of the business within one year or one operating cycle, whichever is longer.

)

12)Property, plant, and equipment are intangible assets with relatively short economic
lives.( )

A4
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13)Accrual accounting reports transactions only when cash has been received or paid for
them.( )

14)Adjusting entries are only necessary if errors have been made in the journal during
the accounting period.( )

15)The annual accounting period adopted by an enterprise is knawn as its fiscal year.

()
16)Generally accepted accounting principles require the use aficash b%is of accounting.

) N

17)Under accrual basis of accounting, revenues are recognized in the period earned and
expenses are recognized in the period incurred in the pm&es of generating revenues.( )

18)The entries required at the end of an acceunting period to bring the accounts up to
date and to assure the proper matching of revenues-and expenses are called adjusting
entries.( )

19)Bringing the ledger up to date at ti&%ﬁl of a period is part of the accounting
procedure.( ) N\

20)An accumulated depreciation-account is an expense account.( )
21)The work sheet1sian aid in preparing the financial statements.( )

N\

22)The first pracedtre of the accounting cycle is the preparation of a trial balance after
all of the temparary aceounts have been closed.( )

23)The purpaose of the post-closing trial balance is to make sure that the ledger is in
balance'at.the beginning of the new accounting period.( )

24)The sequence of procedures is frequently called the accounting cycle.( )

25)The most significant output of the accounting cycle is the financial statements.

()

VY
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26)A contra account is one that is paired with and added to another related account in
the financial statements.( )

27)Accrued revenues are revenues for which the service has been performed or the goods
delivered but for which no entry has been recorded.( )

28)Every adjusting entry involves the recognition of either revenue or expense.( )

29)Every adjusting entry affects both an income statement account and a balance sheet

account.( ) .\

30)Adjusting entries are based upon monthly bills or month-en%ransactions, not upon
the concepts of accrual accounting.( )

A

N\
N
SELF-TEST QUESIIONS

1)1If the supplies account, before adjustment on May 31, indicated a balance of $2,250,
and an inventory of supplies on hand atNay 31 totaled $950, the adjusting

entry would be: \

a)debit Supplies, $950; eredit Supplies Expense, $950.

b)debit Supplies, $1,300; credit Supplies Expense, $1,300.

c)debit Supplies Expense, $950; credit Suppies, $950.

d)debit Supplies Expense, $1,300; credit Supplies, $1,300.

\

2)If the estimated amountof depreciation on equipment for a period is $2,000, the
adjusting entry to record depreciation would:

a)debit Depregiation Expense, $2,000; credit Equipment, $2,000.
b)debittEquipment, $2,000; credit Depreciation Expense, $2,000.

c)debit Depreciation Expense, $2,000; credit Accumulated Depreciation, $2,000.
d)debit Accumulated Depreciation, $2,000; credit Depreciation Expense, $2,000.

3)If the equipment account has a balance of $22,500 and its accumulated depreciation
account has a balance of $14,000, the book value of the equipment is:
a)$36,500 b)$22,500 €)$14,000 d)$8,500

YA
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4)The current asset category would include:
a)cash b)accounts receivable c)supplies on hand d)all of the above

5)Which of the following accounts would be closed to the income summary account at the
end of a period?

a)Sales b)Salary Expense

c)Both Sales and Salary Expense d)Neither Sales nor Salary Expense

2

6)Net income: )

a)is computed in the income statement, appears in the statement\f owner’s equity, and
also causes an increase in the amount of cash shown in the\balance Sheet.

b)is equal to revenue minus expenses and withdrawals:gy the’owner.

c)is computed in the income statement, appears-in the statement of owner’s equity, and
increases the amount of owner’s equity shown in_the balance sheet.

d)appears in both the income statement and the statement of owner’s equity, but has no
effect upon any balance sheet account:

7)The net increase in owner’s_equity %lﬁng from business operations is called:
a)net income b)revenue c)expense d)asset

8)In general, the acecounts in the Income statement are known as :
a)permanent accoun%C b)temporary accounts
c)unearnedirevenue-accounts d)contra-asset accounts

9)A business'may choose a fiscal year that corresponds to
a)the calendar year b)the natural business year
c)any twelve-month period d)any of the above

10)Assigning revenues to the accounting period in which the goods were delivered or the
services performed and expenses to the accounting period in which they were used to
produce revenues is known as the :

a)accounting period b)continuity assumption
c)matching rule d)recognition rule
)9
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11)The objective of accrual accounting would not necessarily be met by :
a)recording all revenues when cash was received.

b)applying the matching rule.

c)recognizing expenses when incurred.

d)adjusting the accounts.

12)Which of the following is an example of a deferral? \
a)Apportioning costs between two or more periods 4
b)Recognizing an accrued expense )
c)Recognizing an unrecorded revenue N\,
d)Recognizing an accrued revenue )

\,
AN

13)Prepaid Insurance has an ending balanee 0f$2,300. During the period, insurance in
the amount of $1,200 expired. The"adjusting eatry-would contain a debit to :

a)Prepaid Insurance for $1,200 b)Insurance Expense for $1,200
c)Unexpired Insurance for $1,100 & d)Insurance Expense for $1,100
\.
\

14)The adjusted trial balance is@list of accounts and their balances

a)at the beginning of the aceaunting period.

b)at the end of the accounting period immediately following the posting of adjusting
entries.

c)at the end of the a&&unting period.

d)at any poaint during the accounting period when desired.

15)An important reason for preparing adjusting entries is

a)to make financial statements from one period to the next period more comparable.
b)to make‘net'thcome more readily reflect cash flow.

c)to correct errors in the recording of earlier transactions.

d)to record transactions initially.

16)A purchase of office supplies that was incorrectly recorded as office equipment would
require a correcting entry that
a)credits office supplies. b)credits cash.

\
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c)debits office equipment. d)credits office equipment.

17)Income that has been earned but not yet received is known as :
a)accrued income b)deferred revenue c)deferred charges d)a liability

18)Expenses that have been incurred but not yet paid for are known as :
a)deferred credits b)deferred charges c)accrued expenses d)perpaid expenses

19)Revenue and expense accounts are designated as :
a)permanent or nominal accounts. b)real or temporary/accounts.
c)temporary or nominal accounts. d)real or permanent accounts.

8"

20)An adjusting entry that records.the expired amount of prepaid insurance would debit
the :

a)liability account. b)expense account.

c)prepaid insurance account. 4 d)insurance expense account.

N\
~

21)The matching principle refers to..

a)relating revenue to cost incurred to produce that revenue.
b)matching all accounting forms.

c)comparing the current operations with preceding year.
d)comparing endianentory with beginning inventory.

22)Whichlefithe following items should not be classified as a liability?
a)payroll taxes payable b)deferred charges c)creditors d)accounts payable

23)Which of the following items should be classified as a current asset in a balance
sheet?
a)Machinary b)Marketable securities c)Goodwill d)property

24)Inventories are classified on the balance sheet as which type of asset?

Y

www.takbook.com



www.takbook.com

d’/i{' 1009 www.17march.blogfa.com u’/‘».vu“:; o
a)fixed b)perpetual c)current d)other

25)Adjusting entries are needed to :
a)balance the books for the year. b)record the year’s sales
c)correct the accounts at year-end d)close out the yearly expenses.

26)Which of the following accounts would not be included on a balange sheet?

a)Accumulated depreciation b)Discount on commn stock
c)Service fees d)Salaries payable 4

\,
27)Which of the following items should not be included in’wrrent liabilities?
a)Accrued salaries b)Income taxeé\%ayable
c)Stock dividends payable d)Interest payable

28)Which one of the following responses correctly completes the sentence?
Net earnings determination for a going anern Is usually computed by :
a)matching cash receipts and paymen% .
b)matching revenue and expense forthe period on an accrual basis.
c)waiting until the termimation of the business.

d)applying theyrules in the incometax laws.

29)Which ‘ofithe foll%ing would not be found in the current assets section of the
statement of financial |position?

a)Marketable'securities b)Unexpired insurance
c)Accruediwages payable d)Accrued interest receivable

30)Amounts that are received in advance of being earned are termed :
a)deferred revenues b)deferred charges c)accrued revenues d)accrued interest

31)Liabilities resulting from contractual commitments or government regulations are
referred to as :
a)current liabilities  b)accrued liabilities  c)long-term liabilities  d)tax debts

YY
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32)Adjusting entries are neended to :
a)match revenues and expenses b)update the ledger accounts
c)a and b d)none of the above

33)Every adjusting entry affects :

a)the income statement b)the balance sheet c)a and b d)revenue
.\‘

34)Adjusting entries are made to : .\

a)apportion unrecorded revenue and expense N

b)apportion recorded costs '\

c)apportion unearned revenue \ g

d)all of the above

35)If adjusting entries were not made';
a)the income statement is inaccurate: \ b)the balance sheet is inaccurate.
c)both statements are inaccurate. \\. d)neither statement is affected.

36)A work sheet /.
a)is a financial statement. h)is mot a formal part of the accounting records.
C)is an accounting-book. d)none of the above
N\
37)On aamorksheet the following column must balance :
a)trial balance column b)adjustments column
c)income statement column d)trial balance and adjustments column

38)Long-term liabilities do not include :
a)bonds b)dividends payable c)notes d)mortgages

39)Deferred credits represents revenue :
a)credited to accounts receivable. b)credited to asset accounts

YY
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c)earned but not yet received d)received but not yet earned
40)Which of the following is real account?
a)cash b)service fees earned c)wages expense d)none of the above

41)If accrued salaries payable are not recorded :
a)expenses will be understated b)liabilities will be understated
c)assets will be overstated d)a and b

42)When a firm has net income, the net income figure is entered inte % work sheet in
the :

a)credit side of the income statement column. \\
b)debit side of the income statement column. N
c)debit side of the balance sheet column. \ 4

d)debit side of the adjusted trial balance column.

43)The following is an example of deferral :
a)unearned revenue b)earned revenue’Z c)expired cost d)uncollected billed fees

4

44)Adjusting entries aremneededto recognize :
a)accrued expensgs b)accrued-revenues c)depreciation d)all of the above

45)Which of the following accounts is least likely to be adjusted on the work sheet?

a)Prepaid Rent b)%nd c)Unearned Delivery Fees  d)Supplies on hand

46)The work sheet is a‘type :
a)ledger b)journal c)working paper d)financial statement

47)When preparing a work sheet, the amount of which of the following is shown directly
on the work sheet?
a)Ending owner’s capital  b)Total liabilities c)Total assets d)net income

48)The work sheet is useful in :

Y¥
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a)preparing financial statements b)recording closing entries
c)recording adjusting entries d)all of the above

49)An important purpose of closing entries is :

a)to adjust the accounts in the ledger.

b)to set balance sheet accounts to zero in order to begin the next period.
c)to set income statement accounts to zero in order to begin the next period.
d)none of the above

2

50)In preparing closing entries, it is helpful to refer first to :

a)the adjustments columns of the work sheet. N\,
b)the adjusted trial balance columns of the work sheet. N
c)the income statements columns of the work sheet. \ 4
d)the general journal

51)After all closing entries have been posted, the’balance of Income Summary account
will be : -

a)a debit if a net income has been earned..

b)a debit if a net loss has been incurr&&

c)a credit if a net loss has been curred.

d)zero

52)The post-closingrial balance will :

a)contain Qmly. income statement accounts.

b)cotain only balance|sheet accounts.

c)contain both income statement and balance sheet accounts.
d)be preparedibefore closing entries are posted to the ledger.

53)After all closing entries have been posted, which of the following accounts would have
a nonzero balance?

a)Service Revenue Earned b)Unearned service Revenue
c)Depreciation Expense d)Service Wages Payable

54)The current portion of long-term debt is normally classified as :
Yo
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a)current assets  b)current liabilities  c)long-term liabilities  d)owner’s equity

55)The determination of the periodic income of a business enterprise depends on the
measurement of its economic resources and obligations and changes in them as these
changes occure. This pertains to :

a)disclosure b)accrual accounting c¢)materiality d)the matching principle

56)A basic accounting statement that represents the financial position&f afirmona
given date is called : 4
a)statement of changes in financial position.  b)statement of income.

c)statement of source and use of funds. d)balamnce stieet,

A

\,
57)A debit balance from expenditures not recognizédas expense of current or prior
periods but which involves future benefits that are’carried forward as an asset to be

matched with future revenues is referred to as:

a)long-term obligations. pb)deferred credits.
c)deferred charges. —d)accrued liabilities.
N\
~

58)Failure to record a liability‘will probably :

a)have no effegt oh net income.

b)result in overstatéd net income.

c)result in overstateditotal assets.

d)result in overstate%tal liabilities and owner’s equity.

59)Unpaid obligationsresulting from cotractual commitments are referred to as :
a)deferredicredits. b)paid credits. c)current credits.  d)accrued liabilities.

60)The balance in Unearned Rent at the end of a period represents :
a)an asset. b)a liability. C)a revenue d)an expense

61)The purpose of adjusting entries is to :

A4
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a)adjust the owner’s capital account for the revenue, expense, and withdrawal
transactions which occurred during the year.

b)adjust daily the balances in asset, liability, revenue, and expense accounts for the
effects of business transactions.

c)apply the realization principle and the matching principle to transactions affecting two
or more accounting periods.

d)prepare revenue and expense accounts for recording the transactions of the next
accounting period.

62)The CPA firm auditing ABC Studio found that owner’s equity was upderstated and
liabilities were overstated. Which of the following errors could-have beenthe cause?
a)Making the adjustment entry for depreciation expense twige: \

b)Failure to record interest occurred on a note payable.

c)Failure to make the adjusting entry to to record revenliﬁ*hich had been earned, but
not yet billed to customers. N

d)Failure to record the earned portion of fees ‘received in advance.

63)When a work sheet is prepared at year-end :

a)revenue and expense accounts do ngt‘have to be closed to the Income Summary
account because the income statemenkgs prepared from the work sheet and net income is
already computed.

b)adjusting entries mustbe journalized and posted, even though the Adjustments column
is properly completed.

c)the amount of‘net.income appears-as a credit in the Income Statement column of the
work sheet when revenue exceeds‘total expenses.

d)The Income Statement columns and Balance Sheet columns of the work sheet
eliminate the'need to prepare formal financial statements.

64)Which ef the following sequences of actions describes the proper sequence in the
accountingcycle?

a)post, record, analyze, prepare, close, adjust

b)analyze, record, post, adjust, prepare, close

c)prepare, record, post, adjust, analyze, close

d)enter, record, close, prepare, adjust, analyze

YV
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65)For which of the following adjustments would a reversing entry facilitate bookkeeping
procedures?

a)Adjustment for depreciation expense

b)Adjustment to allocate prepaid insurance to the current period

c)Adjustment made as a result of inventory of supplies

d)Adjustment for wages earned by employees but not yet paid to them

66)The matching rule :

a)necessitates the recording of an estimated amount for bad debts,

b)is violated when the allowance method is employed.

c)results in the recording of an exact amount for bad debts losses:

d)requires that bad debts losses be recorded when an individual’%gstomer defaults.

\,
67)The accounting cycle for a business enterprise incluﬁ all the following procedures
except :
a)closing the accounting records.
b)classifying data by posting to ledgef aescounts.
c)preparation of supporting document¥or a business transaction.
d)adjusting, correcting, and updatingsécorded data.

~N
68)Accrued expenses :
a)decrease assets. b)increase liabilities.
c)decrease liabilities: d)increase controlling accounts.

69)In a work sheet f%\a merchandising business, the same dollar amount of an item
appears bothin the debit column of the income statement section and the credit column
of the balance sheet section. It is reasonable to surmise that this itemis :

a)the netilgssifor the period b)the net income for the period

c)cost of goods sold d)the beginning inventory

70)An adjusted trial balance contain :

a)asset, liability, owner’s equity, revenue, and expense accounts.
b)revenue and expense accounts only.

c)asset, liability, and owner’s equity accounts only.

d)adjusted asset and liability accounts only.

YA
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71)Which of the following adjusting entries causes a decrease in total assets and total
owner’s equity?

a)The entry to record accrued interest payable.

b)The entry to record depreciation.

c)The entry to record the earned portion of rental revenue received in advance.
d)The entry to record commisions earned but not yet received.

72)Which of the following is accounted for differently under the cash.and accrual bases
of accounting? N\

a)prepay rent for two years )

b)receive cash from sale of merchandise to customers A\,

c)pay salaries in cash )

d)pay for services received \\.

73)When an item of revenue or expénse hasbeenincurred but not yet oaid or recorded, it

is normally called a/an ............. Revenue or expense.
a)cash b)accrued ¢g)estimated d)prepaid
N\,
\

74)During ABC Company’s firstyear of operations, a balance sheet account was debited
in the amountof $1,480 forweffice’supplies purchased during the year. At year-end, office
supplies on hand'were countediand/determined to represent a cost of $540. The
appropriate adjusting.entry would:

a)have no effect on pétincome b)decrease assets $540
c)increasegxpenses $940 d)decrease expenses $540

75)Adjustingentries are always necessary if the accounts are not already at their proper
balances..

a)at the end of each month.

b)at the end of each calender year.

c)to bring accounts to their proper balances before financial statements are prepared.
d)All of the above are correct

Y4
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